| Consiructa confidence ierval o fae popadasion propertion at the gven leve of ceafifence.
1= 180, 0=1100, 5%%4 confidence

The lower bound of e confidence imervalis | |
(Round to the nearest thewsandth 25 seeded )

7 The wpper boumd of e confilence mervalis | |
‘ (Roud 1o the nearest theusandth 25 seeded )




| Toamialof 197 pasents b raceved mg doses of 2 g de, 4 eportadBesdche 5.1 ke offct Use 5 im0 commlets pars (1) rongh (6 bl

(a) Obtsin 2 pect esimate fir the popuaion properion of gt wh received 0mg doses of 2 drug day andrepered beadach s 2 e effet.

=[] (Rommd to o decinal laces a5 seeded)

() Verify that the requirements for constructing 2 confidence nterval about p are saisfied.
Are the requrements for construcing 2 confience saisfed?

04 Yes, the requrements for constrocting 2 coafidence imterval are safisfied

OF Ny the cequrement hat {1 - ) s greatertham 10 ot ssfied
q O No, the requrement that each trial be mdapecdent is oot safisfied.
(0. No, the requvement that the sample size is s more than $% of the population i net satisfied.

© 295% confidence marval for the popuatin progortion of patients who receive the drug and report headache 2 2 side effect.
| The §5% eonfence renvalis (1 ).
| (Rodto hree decimol places 25 needed )

() Ecterpret the confifence interval Which statement below best iterprets the interval?

A Weared3% cooBent thot e teval comrns e e vt ofp.
| (O Thereis 2 95% chance that the true vakie of p will il i e ntenval
| (OC Weare 95% confident that the interval does not contam the frue vake of p,

(OU. There is a 33% chance that the true vakie of p wil not fall in the interval

A% T
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e (d) Choose the conrect answer below.
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standard deviation of 0.72 how. Coerglete pants (1) hrvigh (d) below,

Amﬂmmmwmhmwmwmum.Smuicnmﬂommpkof%?peopk:gelSa&,hmmoﬁﬁmwe&g«&Hﬁgwd@kLii!m'ssiu h
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(a) A histogram of Sime spent eating and drivking each day s skewed right. Use this resut to explain why 2 large samgle size is needad ts construct 2 confidence interval for the mean time speat eating and drinking each day.

L T The disrbution of the samgie mezn vl naver be approximately pormal

b Sh:ehﬁsﬁﬁouf:imspazmi:gnl&iir'ngnd:&yismdyisumhsmkmkhgewmdzmﬁﬂxmkmmwlhmm&:mi

— ot Sim&tis&hﬁuofﬁuspuuﬁ:gaadd'rﬁ:gach(hyisnﬂnam:l;chhd(s&md@)._ﬂ:emkmbehrgcndmtheésﬂmhnof&es:qkmmﬂhea;pmiudymml
OO, The Estribuon of the sample mezn will ahways be 2pproximately normal

(b) In 2010, there were over 200 mlion people nationaly age 15 ¢ older. Explain why this, 2long with the fact that the data were obtained using 2 random samg) fes the requirements for constructing 2 confidence irerval

O The samgle size i greater than 10% of the popedation
O The samgle size s less than 10% of the pogedation
O The sample size & gveater thas 5% of e popedaton
O The sample size i less han 5% of the popedation.

(c)Dﬂum'nexﬂimprﬂaﬁﬂicmﬁmehﬂfwﬂxmmoﬁm.&mﬁhmm 15 or older spend eating and drinking each day.

Select the mmd&eb&wdﬂh&mumiw.hynm.
(Type mtegers or decimals rounded o three decimal places 25 needed. Use ascendng order.)

(o1 The it s 95% confdent that he mean et of e speot esing o diking e day s berween [] aod [ bows, |
Os Theres 2 95% robabty hat the mean amouct o e spe eaiog or drkingper day i between ] ad [ s

ot Themliimis95':6conﬁmﬂmdxmuefﬁmwmhg«ﬁﬁgpud:yf«mﬁiﬁkbﬂwmuandDhm.
OO The requirements for consticting 2 confdence interval are ot satisfed

(d) Coud the terval be used to estate e mean amountof e 2 -year-el speads eatiog and driking each ay”? Enplin.

QA Yﬁ;ﬂnhﬂdklbﬂﬂaemmmﬂof&mmuﬁga&iﬁngpﬁbyhp«pkpmﬁem15oroﬂcrmdcznbenscdzoﬁ:dd:emmmnnfﬁmmezh;u&iﬁagpuda}-fu?-yu-ow.
Qe No;hhﬁvﬂkzbupeopluy15«&.mmmﬂnfﬁuwuﬁgm&hﬁgmhyfuﬂ-ym-&kmyﬂm




A—%_wmhﬂhmm“eﬁumSwu:ﬂnr.hmﬁeeﬂﬂpﬁugﬁ
smdad deviton of 0 77 bow. Complete parts (2) Srongh (d) belom

o= hu&m«ﬁ-muﬁ.uﬁﬁ!nﬂqammh_; 50 at e Saiiusion of the sample men will be sppreimately sormal
(o34 Sﬁzﬁ‘wﬂﬁdﬁﬂ:ﬂ.ﬂﬁﬁguﬁhi-mhﬂﬁmﬁﬁlk#nhhnhhﬂﬁﬁfﬁwwdhmmﬂ P
o5 mmdﬁsqh-uﬂi-mkwn'-id_rm i

oF clder. e mean amonst of tme spers e2sng or drinling per doy i 137 bors with 3

o)hmo.&uemwumﬂ-#s-‘-i,apH-ﬂ,fﬁﬂ&&;ﬁhmh&h e ctramed o & samisfies e rega foxr
O4 The samgle sive s greater ham 10% of the popuiaticn.

0= m#ﬁihhlmdﬁm

OF. The sample sice is greater fhan 5% of e popuiatin.

7. The samgle size is Jess than % of the popuiaton

wting 2 corfidence Fgerval

(€) Determine and & 3955 comtid

forde of e Amesicans age 15 ox cider spend easig 2od Aieking cach day.

mbmﬁ;hﬂﬂﬁﬁmﬁi#imdﬁz
ﬂmm-mmuﬁwmﬁmaﬂ Use ascending order )

OA The soeriborsst s 55% confident e e o kg pes dayis berween [ ] md [ bons. "
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O No & about individial Sne spet eatiog or &inking per &y s cammt be seed 1o fd spent eating o drnking per day foc specific age.
oo Y&ﬁm‘iihﬁwnmfﬂg-ﬁ-mﬁyﬂmh-ﬂ-ﬁlhmn--fhal—yuﬂw:dsr—'gd&iﬁgtﬂﬁy




Mg&hﬂrm&ukmmhm&mk@hdﬁcym mhamg’on?ru&gkhﬂlomsmshﬁuzﬂn sﬁhh%&mﬂm%repmhmnf&ptfhgm
sexson ]

1% 165 4 13 17 185 ] 176 167 155
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(A)Bemseﬂrmmkﬁckmﬂnmmﬁ-&khmimammsmwm&&h sqbﬁebsmcmhmynﬁs.fbmﬂn&ﬁydﬁﬂhﬂmmmwm
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04 No, there are ufers. 1 § g

08 Yes, both condtions are met

OF. No, negher condtion is met.
I 13 F:S

Q0. No, the populaion is sot pormal Das

@)Cma%ﬁicﬂﬂmeﬂmﬂfuﬁennhﬁdﬁcyuigmh&ug‘m
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(c)v.‘htmbcdmemkumhmﬁuyfmmm&:mdm&csmhmmmmzw?

04 The:mdsmi!ih:mﬁemﬁcm

Ot T&rmchumtﬂhumhlnﬂofmﬁimm

Qc Ihlmchucdddwm&hﬂufcmﬂme.
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(Use ascending eeder. Roond o two decimal places as needed )

An et researcher i ntersted i esinatio the mean angh of e growieg seqson 2 regite. Treaing he st 10 years a8 2 singl randeen samgl, b cbtan he folowing oty which regresest e smmvber of davsof e gromicg
Seasm

19 166 14 13 m 185 1 116 187 155 o
() Click e contoview thetableofarezs e he t isrcitn.

(a) Because the sample sive i small we musst verify that the datz come from 2 pogudation that s normally distribesed and that the sampis sive does sot contan any cufiers, The noemal probablity plet and boxplot are shown bebow.
Are the coadticns for constructing 2 coeflence mterval about the mean sasfed?

Ok No,dae e ouens. Y .

b Yes, both conditions are met. .é -I]}-

(F No,seher condions met - : eprrerrrrees
&® -] in i -]

(0. Ne, the pepubafion s ot normal D Daps

(b) Comstruct 2 93% confifence mterval for the mean length of the gyowing seasea i the region.

aD |

() What can be done to dacrease the margin of emor, assomeeg the reseacher does net have access to more data?

(4 Theresearcher could mcrease the sample mezn.

(F. Theresearcher could imcrease the level of confidence.

(OC The researcher could decrease the Jovel of confidence.

(0. The researcher could decrease the sampls suundard deviaticn

e ——




Ky

The foliwing data represent the asking price of 2 simple random sample of bomes for sale. Censtruct 2 9% couﬁéur:'nm:luiﬁaﬂlﬁﬁm
the onrfer nchuded Comment ee the effect the ouber has g the confidence tenval

() Clck heicomtoview the table of reas wnder the t Sstriuton

() Construct 2 99 confidence mterval wih the outSer nehded

R
(Reund to the nearest integer 25 needed)

(b) Coestruct 2 5% confidente interval with the cutfer removed.

(Rowsd to the nearest imteger 2 needed )
(€) Cemrment on the effect the outler bas on the confdence ntenval

(0 The outber cznsed the wikth of the confidence xerval 1o mevense.
(O The outber bad o effect ca the wikkh of the confilence interval
O Toe oulber caused the width of the confdence interval to decrease.

17050 219540 R15%0
S1430%0 $205,800 $280,500
5550 $261.500 318750
25500 $147.800 261500
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A researcher wishes to estimate the proporsicn of ads who have hish-spoed Interet access. What sive sample shodd be cbtzned if she wiches the esimate to be witkin 0.0 with 0% conSdence €
(2) he uses 2 previces estmae of 0327
(b) she does ot wse any prior estimates?

3 i'_ﬂ (z}n:D(Rmﬂwseﬁ: neaestmegar )

N




In apoll 51% of the people pallad answered ves to the quesion *Are vou i favor of the death peasky for 2 person comvicted of marder” The margh of emror in the pall was 24, and the estimate was made with 34% ceafidence Atleast
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- mﬂmighziqumeuﬁ!mnhwkrzﬁqnmﬁeeﬂmufasﬂe,Cmmz??bcmﬂmgenmﬂuihmdum $225,000
LERrY hMmMCmmm&eﬂmhmham&:m&zem:l
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8279.900 5219500
3143000

$203300 3254500 I
$455.500 5208500 $187300
ini $183.500 $147800
al% @C&tdzkmlo&*u’&elﬁkof:mmdkt-&m
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Table VI
{-Distribution
Areain Right Tail
df .25 0.20 0.15 0.10 0.05 0.025 0.02 0.01 (.00s 0.0025 0.
1 1.000 1.376 1.963 3078 6314 2,706 15894  31.821 63.657 127.321 318
2 (.8la6 1.061 1.386 1.886 2.920 4.303 4.849 6.9635 9.925 14.089 27
3 0765 0978 1.250 1.638  2.353 3.182 3482 4.541 5.841 7.453 1{)
4 0,741 0.941 1.190 1.533 2.132 2,776 2.999 3.747 4.604 - 5.598 7
5 0.727  0.920 1.156 1476  2.0135 2571 2.757 3.365 4.032 4.773 5
6 0718 0906 1.134 1440 1.943 2.447 2.612 3.143 3.707 4.317 5
7 0711 089 1119 1415 1.895 2.365 2517 2.998 3499 4.029 4
8§ 0706 0.889 1.108 1.397 1.860 2.306 2.449 2.896 3355 3833 4
9 0703 0.883 1.100 1.383 1.833 2.262 2.398 2.821 3.250 3.690 4
160 0700 0.879 1.093 1372 1812 2228 2.359 2.764 3169 3.581 4
11 0.697  0.876 1.O8S 1.363 1.796 2.201 2.328 2.718 3106 3497 4
12 0.695 (.873 1.083 1.336 1.782 2.179 2.303 2.681 3.035 3.428 3
13 0.694  0.870 1.079 1.330 1.771 2160 27282 2.650 34012 3372 3
14 (0.692  (0.868 1.076 1.345 1.761 2.145 2.264 2.624 2977 3.326 a
15 (0.691 0.866 1.074 1.341 1.753 2131 2.249 2.602 2.947 3.286 3
16 0.690 0865 1.071 1.337 1.746 2.120 2.235 2.583 2921 3.252 3
17 0689  (0.863 1.069 1.333 1.740 2.110 2.224 2.567 2808 3.222 3
1§ 0.688 0.862 1.067 1.330 1.734 2.101 2214 2.552 2.878 3.197 3
19 0688 0.861 1.066 1328 1.729 2.093 2205 2.539 2.861 3.174 3
20 0687 0860 1.064 1325 1.725 2.086 2.197 2.528 2.845 3.153 3
21 0.686  0.859 1.063 1.323 1.721 280 2.189 2.518 2831 3.135 3
22 0.686  (.858 1.061 1.321 1.717 2074 2183 2.508 2819 3.119 3
23 (.685  (.858 1.060) 1.319 1.714 2.069 2177 2.500 2807 3.104 3
24 0.685 0.857 1.059 1.318 1711 2.064 2172 2.492 2.797 3.091 3
25 0.684  (0.856 1038 1316 1.708 2.060 2.167 2.485 2.787 3078 3
26 0684  0.856 1.058 1:315 1.706 2.056 2.162 2479 2.779 3.067 3
27 0684 0835 1057 1314 1.703 2052 2.158 2473 277 3.057 3
28 0683 0855 1056 1313 1.701 2.048 2.154 2467 2.763 3.047 3
29 0683 0854 1055 1311 1.699 2.045 2.150 2462 2.756 3.038 3
30 0683 0854 1.055 L3310 1.6897 2.042 2.147 2457 2.750 3.030 3
31 (.682  0.853 1.054 1.309 |.646 2.040 2.144 2.453 2.744 3.022 3
32 (0682 (.853 1.054 1.309 1.694 2.037 2.141 2.449 2.738 3.015 3
33 0682 0853 1.053 1.308 [.602 2.035 2.138 2.445 2.733 3008 3
34 0682  (0.852 1.052 1.307 1.691 2.032 2136 2441 2.728 3.002 3
5 0.682  (0.852 1.052 1.3086 L6480 2.030 2.133 2438 2.724 2994 3
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3¢ 0681 0852 1052 1306 1.68% 2028 2.131 2434 2719 2.990 3
37 0681 0.851 1O 1305 1.687 2026 2,129 2431 2715 2985 3
38 0681 0851 1.051 1.304  1.686 2024 2,127 2429 2.1l 2 980 3
39 0681 0851 1050 " 1304 1.685 2023 2.125 2.426 2.708 2976 3
40 0681 0851 LOSO 1303 1.684 2021 2.123 2423 2704 2971 3
S0 0679 OR49 TW4T 1299 1676 24009 2109 2403 2678 2.937 3
60 0679 0R43 LS 1296 1671 2.000 2099 2.390 2,660 2415 3
70 0678 0847 1044 1294 1667 1.u94 2.093 2.381 2648 2.899 3
B 0678 O8d6 1043 1202 1664 1.890) 2188 2.374 2.639 2 8R7 3
90 0677 0846 1042 1.29] 1.662 1.Y87 2.084 2.368 2632 IR78 3
100 0677 0845 1042 1.290  1.660 1.954 2081 2.364 2.626 2871 3
10000 0675 0842 1037 1282 1646 1.962 24156 2.330 2.581 2813 2
-4 0674 0842 1036 1282  |.645 1.960 2054 2.326 2576 2.807 3
dr 0.25 (.20 015 (.10 005 0.025 0.02 0.01 0.005 0.0025 0.

Area in Right Tail
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